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9 cosxdx = sinx

9 Sinx dx = -COSX

2
e sec xdx = tanx

2
@ |cosec’xdx = -cotx

@ secx.tanx dx = secx

€ |cosecx.cotx dx = -cosecx

'8 Jaxdx ol a
9 Jexdx = e
@ J% dx =logx

m —dx = sin x
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@ dx = cos X
J1 X°

@ 1—2dx = tan X
1+ X

@ dex = cot X
1+ X
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dx = cosec X
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@ ~[tanx dx =log secx

@ Jcotx dx = log sinx

@ ~[cosecx dx = log tang

Jcosecx dx = -log(cosecx + cotx)
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Jsecx dx = Iogtan(4 + 2)

Jsecx dx = log(secx + tanx)

dx = |0g(X+J az+ X2 )
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J 21 2 dx =log(x+{x?2- a2
x2- a

@ e®sinbx dx = 2e - (asinbx - bcosbx)
(a“+ b")

@ e®*cosbx dx = Ze - (bsinbx + acosbx)
(a"+ b")
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x"a2+ x2 +a‘log(x+{a%+ x?)
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Q | [a2+x2dx= 5
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